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Accelerated Algebra 1 Test #7 DATA DISTRIBUTIONS Review |

Sections 14-1, 14-2, 14-3, 14-4, 15-1, 152

Seldct the best answer.
1. Which type of graph would best display
the change in the number of student
absences over the school year?

A circle C bar
@ fine D double-bar
&
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‘Use the double-bar graph for 2-3.
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2. How many people were enroiled in
college courses in 19997

F 100 H 200
G 120 - 220
[ ¥ | 243

3. In what year was the difference between
men's and women's enrcliment the
greatest?

A 2000 C 2002

(B 001 D 2003
‘QJ) 'gh = Lf()

Use the stem-and-leaf plot for 4-6.
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4. If you organized the data in a frequency
table, which coufd be intervals?

F 70-80 and 80-90
G 70—79 and 8084

70--79 and 80-89
J 70-80 and 81-80
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5. What is the median? _
A T2 C 825
B 80 [ 832

6. What is the mean?

F72 H 82.5

7. A group of men and women were polled
aboul whethar they go to the gym
regularly. The joint and marginal relative
frequencies corresponding to the resuits
are showr in the bwvo-way table.

Yes Ne | Total
Men 0.4 X 0.8

Women| 0.3 v 0.4
Fotal 67 1 03 1

Which of these is the of x? :
]‘: 1 H 0_ _"-_""

G 05 J 0.1

8. Use the two-way table from Question 7.
Which of these is the value of y7

A1 C 0z

9. Fortheset{1,1,2,4,5,6,7,8,10)}
which would NOT be affected if another

yal 10 was included?
A range C median
mean £ mode
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10. Look at the box=-and-whisker plot below.
Between what values does the middle
half of the data fall?
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11. Use this bar graph to identify how many
more candies are green than yellow.
) Candy Colors in One Bag
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The low temperatures for Nashville, TN,
for October 1—15, 2005, are given below.
Use this data for questions 12-15.

Low Temperatures (°F)

56 88767 52”8y BT W 52
S4B5 B8 54 55 B 49

12, Completa this frequency fable.

Temperature (°F} | Frequency
4549 j
50-54 g
55-59 &
6064 %
65-69 b+ N
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13.Use your frequency table in question g sw
o make a histogram.

4. Find the mean, median, and mode.

mean. ﬁﬂ?' L{
median: S L
mode: $2., 5% S, I

!

15. Use the data o make a box-and-
whisker plof,

4 syge 65 &7
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16. Men and Women at a shoe store were
poited to see if they prefer comfort
or fashion. The resuits of the poli
are shown in the two-way {able.

Comfort | Fashion
Men 20 3
Women 13 24

How many people were polled?
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17. Use the two-way table from Question 16.

How many people prefer fashion?

] QW?W

18. Use the two-way table from Question 186. -

What is the probability that a man would
choose comfort?

> g1 3%
3% g

21. Which comretation best describes the

19. Use the two-v.;ay table from Question 16
{o create a {able to show the joint and
marginal relative frequengi

< E o

20. Which ordered pairs match the scatter
plot below?
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A, 2),4,2), 5, 5),C, 6)
B (2, 1), (2, 4), (5, 5), (7, 8)
C{1,2,249,55,67
@tz, . (4, 2), (5, 5), (7, 8)
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seaiter plot below?
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22. Which of the following best describes a

negative correlation?
A height of person overtime
B depth of swimming pool as it drains
over fime

C number of drinks sold over ihe
summer and air temperature

D number of groceries purchased and

total amount of bilt
o~
Tavd
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23. Based on the graph below, which is the
best prediction for the cost of 9 items?

i Grocery Bill
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F about 8 H about 21
@about 14 J about 28

24. The table shows the number of fish in
a small pond over four years. Draw a
scatter plot and frend line.

Year D2 ,'03|'04 705

Number of Fish | 32 | 37 | 41 | 50

Flsh Population
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Based on the trend line, predict how
many fish will be in the pond in 2007,
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25. Discuss causation and carrelation in
the following scenario. Test grade
averages for this class increase as the
number of hours playing video games
increased by each student.
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For each set of data: TRe = 3 3 ~ Q0

A) Find the measures of central tendency: mean, median, mode \
B) Then find the measures of spread: range, IQR, Standard Deviation, and MAD
C) And then graph a box and whiskers plot.

1) 48,23, 97,36,27, 72,48, 41, 58
pf) % = SO e =1 modes 1%
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2) 420, 360, 398, 196, 398, 400

AY X = B med = 399
) [QM,%;L:D.A‘I
The =40
. 4 A
a) 146,300, 34F, 400, 420 H’:L Y s

343, 57, 58, 47, 40, 50, 38, 52
AY X yg.28  mer = 98
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roe = \3
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